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1) In an actual PET scanner inside MRI or EPRI scanner, would the RF fields be as large as they are in the center of the cavity?  Are the fields lower around the sides of the cavity?

2) If there is a resonance mode like TEM(1,1) in the cavity, with no field along the axis, we could use this as a route for the wires to the SiPM, but then the SiPM would be in the middle where there would be no field.

http://en.wikipedia.org/wiki/Transverse_mode
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3) We discussed shielding the SiPm, but how can this work in the RF cavity? We also discussed the fact that conductive materials would lower the Q drastically.

  B) in a real situation, could the shield be part of the RF cavity, 

         with the SiPM outside shield?

Suggestions:

       At Argonne, we have an RF generator and Amplifier in Tom Kasprzyk’s lab.  We could wind a coil around the SiPM and use up to 100 MHz and up to a few watts for a test. With an Oscilliscope.  There is no TEM(1,1) mode here, so the wires would be in the strong field and could pick up RF.

    There is probably some subtlety in shielding leads to and from the SiPM.  There is not necessarily such a thing as a ground when a cable length is a substantial fraction of a wavelength.   

